1. sinA= Z A o, cosA + tan A 2] FE2?
16 V7 17V7
o 167 o 1TV
27 27
@ 197 20V7
28 27



ohe 73 9] AABC oA /BAC =90°, AHLBC °]1 /HAC = x &
St o, tanx o] 3F-2?




3. sin30°cos30° - cos60°sin60° & Ff= -5l

5 J=X
=%



4. BC AB
o gaoq B8 L AB o 1o
8 TRl o+ 22 9 % c
3 4 4
D 5 © 3




4
COsSA = = A o, sinA + tanA 9] F2? (T, A = oZFo|t})
23 27 12 17 24
V% 2% 9% @5 Ox



I3 A BO = 5¢em , /B = 60°

©
=

ot

6.

@ 5(3+ V3)cm
@ 5(3- V3)em
® 533+ V2)cm

@ 5(2v3-1)cm

® 5(3+2v3)cm






Ty
3 <

m <

< 7

N o
2

o N
N m
<2 e
0t 1__.._
- _L o
N — ©
= o
=
CARC)
il ol
o < U
T8 e

® 3(2- V3)

@ 3(2+ V3)
® 3(3-V5)

D 3(1+ V3)
@ 3(2+ V5)



9. sinA=_- ¢, tanA -cosA 9 &7 (F, 0°<A<90°)

1 1 8 11
O- @-5 O @@= O



12
10. tanA = = A off, 13sin A —26cos A ] F27 (HF,0° <A <90°)

@ 2 @ 3 ® 4 @ 5 ® 6



11. o9& a2¥oA /A =45 ,BC=12cm ¥ A
o, ]H Y O 9] ¥tx]Fo] do|=?

45°

® 2v6cm @ 3v3cm

® 4V3cm @ 5v3cm

® 6V2cm BWC
-12ecm




12, the 7o) A2zl tiste] &2 27

A

1 1
@ tanC = tanC @ tanC = tanA

@ cosA = cosC
1
@ COSC = ﬁ

@ sin A =cos A



13. o3 F cosA & gho] &2 4zt =7

@ sinA @ sinB @ cosB @ tanA ® tanB



14.

-

i)
g 1o m

1o] AB & Ao o
o] H C o4 AB of HH
2t7 &1, /DCB =

, BD=3 %4 1, cos6 &

A
T O ot

o

‘I_

B o &L
~ O
|

Mo »| mx rx oo
. ‘19 L
fll
Sio do

® ©
®
| o

~

/
i
w‘a

"D -3-"



15. o 2983 2L 0 = 90° A 4747 A

ABC o4 CDLAB, DELAC ¥ W], AADE 9]
sol=?
D E
{7 60°
A )
B~~- 8em--~ C
O 18cm? @ 18 V2cm? ® 18.5cm?

@ 18 V3cm? ® 18 V6cm?



